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X g HEto|gr 2 ohn2d J|E3e HEo et HEE = A0, UhXHAIY HA Y 7[ESE HEHLICL (G RESE:))
1= 2= 3=A 4z 5= 6=
SEAACNFE e M

AEZ2 | YUME | AnEZ2 | YUME | AMEZS | YUNE | YoES3 | YUNE | Ao=EsSs | YUANE | AoREsSs | A=
g XY EtX| g 7| EFES HEHH () 100 80 20 70 30 60 40 50 50 30 70 20 80
CHEH = (ICH) 25 59 157,480 125,980 98 110,230 147 94,480 196 78,740 246 47,240 344 31,490 393
- Ch o =4t 23 59 167,880 134,300 104| 117,510 157| 100,720 209 83,940 262 50,360 367 33,570 419
Es2 24 59 149,030 119,220 93 104,320 139 89,410 186 74,510 232 44,700 326 29,800 372
HFEMA(FEEXRE) 33 84 185,540 148,430 115 129,870 173 111,320 231 92,770 289 55,660 405 37,100 463
MEM2) 34 34 89,190 71,350 55 62,430 83 53,510 111 44,590 139 26,750 195 17,830 223
HE | HE 59A,B,C 59 146,570 117,250 91 102,590 137 87,940 183 73,280 229 43,970 320 29,310 366
MEMS) 36 36 92,390 73,910 57 64,670 86 55430 115 46,190 144 27,710 202 18,470 231
46 46 118,050 94,440 73 82,630 110 70,830 147 59,020 184 35,410 258 23,610 295




